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«  The radii of the

*  pedal sprocket, the

« wheel sprocket, and
*  the wheel of the

. bicycle in the figure
* are 4 inches, 2 inches,
. and 14 inches,

« respectively. A cyclist - P T TR —_ s
. is pedaling at a rate — . C‘ft“*‘%re)’u

« of 1 revolution per second.

Retio 0 2214 2 22107
Rodi

~ qw s I

: =177

- ome vitio] This hqmm beCause
Q"—' Y‘ﬁ s o | near function.
éa)om complete rrtation of oot sProck&"'

fg@ﬂ U0 Ao
S

. (a) Find the speed of the bicycle in feet per second = .
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: (c) Write a function for the distance d (in miles) a B . “
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